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Mapka Maca Mpu—
[o3HaueHHs HatmeryBaHHs Ki nbk ]
nos. 0g.,Ke [ Mmka
Cmp?uykob? gyHgameHmu
1 JCTY 3760:2006 $12 AOOC, L3ae=632m.n, —10.888 | 5612 ke
2 JCTY 5760: 2006 $12 A400C, L=960Mm 63| 0.85 | 536 e
3 ACTY 5760: 2006 $12 A400C, L=760mm 90 0.68 | 612 «e
4 JCTY 5760:2006 6 A240C, L=1130Mm 1201 0.25 | 30 ke
5 ACTY 5760: 2006 6 A240C, L=1400mm 1841 0.31] 570 we
6 JCTY 3760:2006 6 A240C, L=1320Mmm 3761 0.29 | 1090 ke
Bemon ka. C12/15(B15), M3 [ 14.3 QyHgameHm
Bemon k1. C8/10, M3 6.04 n? gzomoBkq
QyHgamMeHmH? cm?Hu
1 ACTY 5760: 2006 $12 A400C, L30e=388 m.n — | 0.888 | 3445 ke
7 JCTY 5760:2006 6 A240C, L=470MM 338 01 338 ke
8 ACTY 5760: 2006 6 A240C, L=370mMm 38 0.08 | 304 ke
Bemon ka. C12/15(B15), M3 |50,81
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